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𝑥′′(𝑡) = 𝑓(𝑡, 𝑥(𝜑(𝑡))) 𝑡 ∈ (0, 1)

∑ 𝑎𝑘𝑥(𝜏𝑘) = 𝑥0
𝑚
𝑘=1 𝑥′(0) + ∑ 𝑏𝑗𝑥(𝜂𝑗) = 𝑥1

𝑛
𝑗=1

𝜏𝑘 ∈ (𝑎, 𝑑) ⊂ (0, 1) 𝜂𝑗 ∈ (𝑐, 𝑒) ⊂ (0, 1) 𝑥0, 𝑥1 > 0

𝑥"(𝑡) = 𝑓(𝑡, 𝑥(𝜙(𝑡)) 𝑡 ∈ (0, 1)

𝛼𝑥(𝜏) = 𝑥0 > 0 𝜏 ∈ (𝑎, 𝑑) ⊂ (0, 1) 𝛼 > 0

    𝑥′(0) + 𝛽 𝑥′(𝜂) = 𝑥1 > 0 𝜂 ∈ (𝑐, 𝑒) ⊂ (0, 1) 𝛽 > 0

𝑑𝑥

𝑑𝑡
= 𝑓 (𝑡, 𝑥(𝜑(𝑡))) 𝑡 ∈ (0, 𝑇]

∑ 𝑎𝑘
𝑚
𝑘=1 𝑥(𝜏𝑘) = 𝑥0 𝑎𝑘 > 0, 𝜏𝑘 ∈ (0, 𝑇].

 𝑥 ∈ 𝐶[0, 𝑇]

𝑥0

 𝑎𝑘

∫ 𝑥(𝑠)𝑑𝑔(𝑠)
𝑇

0
= 𝑥0 𝑔: [0, 𝑇] → [0, 𝑇]

∑ 𝑎𝑘
∞
𝑘=1

∑ 𝑎𝑘
∞
𝑘=1 𝑥(𝜏𝑘) = 𝑥0 𝑎𝑘 > 0, 𝜏𝑘 ∈ (0, 𝑇]

𝐶[0 𝑇] [0 𝑇]

‖𝑥‖ = sup
𝑡∈[0,𝑇]

|𝑥(𝑡)|.
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𝐿1[0 𝑇] [0 𝑇]

‖𝑎‖ = ∫ 𝑎(𝑡)𝑑𝑡.
𝑇

0

 𝑥 ∈ 𝐶[0, 𝑇]

𝑓: [0, 𝑇] × ℝ → ℝ 𝑒̃ 𝑓

𝑡 𝑥 ∈ ℝ 𝑥 𝑡 ∈ [0, 𝑇]

𝑎 ∈ 𝐿1[0, 𝑇]

𝑏 > 0

|𝑓(𝑡, 𝑥)| ≤ 𝑎(𝑡) + 𝑏|𝑥| sup
𝑡∈[0,𝑇]

∫ 𝑎(𝑠)𝑑𝑠 ≤ 𝑀.
𝑡

0

𝜑 ∶ [0, 𝑇] → [0, 𝑇] 

2𝑏𝑇 < 1.

𝑥(𝑡) =
1

∑ 𝑎𝑘
𝑚
𝑘=1

[𝑥0 − ∑ 𝑎𝑘
𝑚
𝑘=1 ∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠

𝜏𝑘

0
] + ∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠

𝑡

0

𝑥(𝑡) = 𝑥(0) + ∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠
𝑡

0

𝑡 = 𝜏𝑘

∑ 𝑎𝑘
𝑚
𝑘=1 𝑥(𝜏𝑘) = 𝑥(0) ∑ 𝑎𝑘

𝑚
𝑘=1 + ∑ 𝑎𝑘

𝑚
𝑘=1 ∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠.

𝜏𝑘

0

𝑥(0) =
1

∑ 𝑎𝑘
𝑚
𝑘=1

[𝑥0 − ∑ 𝑎𝑘
𝑚
𝑘=1 ∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠

𝜏𝑘

0
]

𝑥 ∈ 𝐶[0, 𝑇].

𝑄𝑟

𝑄𝑟 = {𝑥 ∈ 𝐶[0, 𝑇]: ‖𝑥‖ ≤ 𝑟, , 𝑟 > 0} ⊂ 𝐶[0, 𝑇], =
(∑ 𝑎𝑘

𝑚
𝑘=1 )−1|𝑥0|+2𝑀

1−2𝑏𝑇
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𝑄𝑟 𝐶[0, 𝑇].

𝐹

𝐹𝑥(𝑡)
1

∑ 𝑎𝑘
𝑚
𝑘=1

[𝑥0 − ∑ 𝑎𝑘

𝑚

𝑘=1

∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠)]
𝜏𝑘

0

+ ∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠.
𝑡

0

{𝐹𝑥} 𝑄𝑟 .

𝑥 ∈ 𝑄𝑟

|𝐹𝑥(𝑡)| = |
1

∑ 𝑎𝑘
𝑚
𝑘=1

[𝑥0 − ∑ 𝑎𝑘

𝑚

𝑘=1

∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠)]
𝜏𝑘

0

+ ∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠
𝑡

0

|

≤
1

∑ 𝑎𝑘
𝑚
𝑘=1

|𝑥0| + ∫ |𝑓 (𝑠, 𝑥(𝜑(𝑠)))| 𝑑𝑠 + ∫ |𝑓 (𝑠, 𝑥(𝜑(𝑠)))| 𝑑𝑠
𝑡

0

𝜏𝑘

0

≤
1

∑ 𝑎𝑘
𝑚
𝑘=1

|𝑥0| + ∫ (𝑎(𝑠) + 𝑏|𝑥|)𝑑𝑠 + ∫ (𝑎(𝑠) + 𝑏|𝑥|)𝑑𝑠
𝑡

0

𝜏𝑘

0

          ≤
1

∑ 𝑎𝑘
𝑚
𝑘=1

|𝑥0| + ∫ (𝑎(𝑠) + 𝑏|𝑥|)𝑑𝑠 + ∫ (𝑎(𝑠) + 𝑏|𝑥|)𝑑𝑠
𝑇

0

𝑇

0

≤
1

∑ 𝑎𝑘
𝑚
𝑘=1

|𝑥0| + 2𝑀 + 2𝑏𝑟𝑇

              ≤ 𝑟.

{𝐹𝑥} 𝑄𝑟 .

𝑥 ∈ 𝑄𝑟 𝑡1, 𝑡2 ∈ (0, 𝑇] 𝑡1 < 𝑡2 |𝑡2 − 𝑡1| < 𝛿

|𝐹𝑥(𝑡2) − 𝐹𝑥(𝑡1)| = |∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠 − ∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠
𝑡1

0

𝑡2

0
|

= |∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠
𝑡2

𝑡1
|

≤ ∫ |𝑓 (𝑠, 𝑥(𝜑(𝑠)))| 𝑑𝑠
𝑡2

𝑡1

≤ ∫ (𝑎(𝑠) + 𝑏|𝑥|)𝑑𝑠
𝑡2

𝑡1

≤ ∫ 𝑎(𝑠)𝑑𝑠 + 𝑏𝑟(𝑡2 − 𝑡1).
𝑡2

𝑡1

{𝐹𝑥} 𝑄𝑟 ,

𝐹 𝑄𝑟 .

𝐹

{𝑥𝑛} ⊂ 𝑄𝑟 𝑥𝑛(𝑡) → 𝑥(𝑡)  𝑄𝑟 𝑛 → ∞

𝑥𝑛(𝜑(𝑡)) → 𝑥(𝜑(𝑡))  𝑄𝑟 𝑛 → ∞

𝑓 

𝑓 (𝑡, 𝑥𝑛(𝜑(𝑡))) → 𝑓 (𝑡, 𝑥(𝜑(𝑡))). 

lim
n→∞

∫ 𝑓 (𝑠, 𝑥𝑛(𝜑(𝑠))) 𝑑𝑠
𝜏𝑘

0

= ∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠
𝜏𝑘

0
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lim
n→∞

∫ 𝑓 (𝑠, 𝑥𝑛(𝜑(𝑠))) 𝑑𝑠
𝑡

0

= ∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠
𝑡

0

.

lim
n→∞

(𝐹𝑥𝑛)(𝑡) = lim
n→∞

1

∑ 𝑎𝑘
𝑚
𝑘=1

(𝑥0 − ∑ 𝑎𝑘

𝑚

𝑘=1

 ∫ 𝑓 (𝑠, 𝑥𝑛(𝜑(𝑠))) 𝑑𝑠
𝜏𝑘

0

+ ∫ 𝑓 (𝑠, 𝑥𝑛(𝜑(𝑠))) 𝑑𝑠
𝑡

0

      =
1

∑ 𝑎𝑘
𝑚
𝑘=1

[𝑥0 − ∑ 𝑎𝑘

𝑚

𝑘=1

∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠
𝜏𝑘

0

] + ∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠 = 𝐹𝑥(𝑡)
𝑡

0

𝐹

𝑥 ∈ 𝑄𝑟 ⊂ 𝐶[0, 𝑇]

𝑥 ∈ 𝐶[0, 𝑇]

𝑣 𝑓: [0, 𝑇] × ℝ → ℝ 𝑡 𝑥 ∈ ℝ

𝑏

|𝑓(𝑡, 𝑥) − 𝑓(𝑡, 𝑦)| ≤ 𝑏|𝑥 − 𝑦|,

             sup
𝑡∈[0,𝑇]

∫|𝑓(𝑠, 0)|𝑑𝑠

𝑡

0

≤ 𝑀.   

𝑣

|𝑓(𝑡, 𝑥)| − |𝑓(𝑡, 0)| ≤ |𝑓(𝑡, 𝑥) − 𝑓(𝑡, 0)|
≤ 𝑏|𝑥|,

|𝑓(𝑡, 𝑥)| ≤ |𝑓(𝑡, 0)| + 𝑏|𝑥|.

𝑥 ∈ 𝐶[0, 𝑇]
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𝑥 𝑦

|𝑥(𝑡) − 𝑦(𝑡)| = |
1

∑ 𝑎𝑘
𝑚
𝑘=1

[𝑥0 − ∑ 𝑎𝑘

𝑚

𝑘=1

∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠)]
𝜏𝑘

0

+ ∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠
𝑡

0

                                          −
1

∑ 𝑎𝑘
𝑚
𝑘=1

[𝑥0 − ∑ 𝑎𝑘

𝑚

𝑘=1

∫ 𝑓 (𝑠, 𝑦(𝜑(𝑠))) 𝑑𝑠)]
𝜏𝑘

0

− ∫ 𝑓 (𝑠, 𝑦(𝜑(𝑠))) 𝑑𝑠
𝑡

0

|

≤ ∫ |𝑓 (𝑠, 𝑥(𝜑(𝑠))) − 𝑓 (𝑠, 𝑦(𝜑(𝑠)))| 𝑑𝑠
𝜏𝑘 

0
+ ∫ |𝑓 (𝑠, 𝑥(𝜑(𝑠))) − 𝑓 (𝑠, 𝑦(𝜑(𝑠)))| 𝑑𝑠

𝑡 

0

≤ 𝑏 ∫ |𝑥(𝜑(𝑠)) − 𝑦(𝜑(𝑠))|𝑑𝑠
𝜏𝑘 

0
+ 𝑏 ∫ |𝑥(𝜑(𝑠)) − 𝑦(𝜑(𝑠))|𝑑𝑠

𝑡 

0

≤ 𝑏 ∫ |𝑥(𝜑(𝑠)) − 𝑦(𝜑(𝑠))|𝑑𝑠
𝑇 

0
+ 𝑏 ∫ |𝑥(𝜑(𝑠)) − 𝑦(𝜑(𝑠))|𝑑𝑠

𝑇 

0

≤ 2𝑏𝑇‖𝑥 − 𝑦‖.

(1 − 2𝑏𝑇)‖𝑥 − 𝑦‖ ≤ 0

2𝑏𝑇 < 1 𝑥(𝑡) = 𝑦(𝑡)

𝑥0 𝑎𝑘.

 𝑥 ∈ 𝐶[0, 𝑇]

𝑥0 ∀ 𝜖 > 0 ∃ 𝛿(𝜖) > 0

|𝑥0 − 𝑥0
∗| ≤ 𝛿 ⟹ ‖𝑥 − 𝑥∗‖ ≤ 𝜖,

𝑥∗

𝑑𝑥∗

𝑑𝑡
= 𝑓 (𝑡, 𝑥∗(𝜑(𝑡))) , 𝑡 ∈ (0, 𝑇]

∑ 𝑎𝑘
𝑚
𝑘=1 𝑥∗(𝜏𝑘) = 𝑥0

∗ 𝑎𝑘 > 0, 𝜏𝑘 ∈ (0, 𝑇]  

𝑥0

𝑥 𝑥∗
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|𝑥(𝑡) − 𝑥∗(𝑡)| = |
1

∑ 𝑎𝑘
𝑚
𝑘=1

[𝑥0 − ∑ 𝑎𝑘

𝑚

𝑘=1

∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠)]
𝜏𝑘

0

+ ∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠
𝑡

0

                                          −
1

∑ 𝑎𝑘
𝑚
𝑘=1

[𝑥0
∗ − ∑ 𝑎𝑘

𝑚

𝑘=1

∫ 𝑓 (𝑠, 𝑥∗(𝜑(𝑠))) 𝑑𝑠)]
𝜏𝑘

0

− ∫ 𝑓 (𝑠, 𝑥∗(𝜑(𝑠))) 𝑑𝑠
𝑡

0

|

≤
1

∑ 𝑎𝑘
𝑚
𝑘=1

|𝑥0 − 𝑥0
∗| + ∫ |𝑓 (𝑠, 𝑥(𝜑(𝑠))) − 𝑓 (𝑠, 𝑥∗(𝜑(𝑠)))| 𝑑𝑠

𝜏𝑘 

0

+ ∫ |𝑓 (𝑠, 𝑥(𝜑(𝑠))) − 𝑓 (𝑠, 𝑥∗(𝜑(𝑠)))| 𝑑𝑠
𝑡 

0

≤
𝛿

∑ 𝑎𝑘
𝑚
𝑘=1

+ 𝑏 ∫ |𝑥(𝜑(𝑠)) − 𝑥∗(𝜑(𝑠))|𝑑𝑠
𝜏𝑘 

0

+ 𝑏 ∫ |𝑥(𝜑(𝑠)) − 𝑥∗(𝜑(𝑠))|𝑑𝑠
𝑡 

0

≤
𝛿

∑ 𝑎𝑘
𝑚
𝑘=1

+ 2𝑏𝑇‖𝑥 − 𝑥∗‖.

‖𝑥 − 𝑥∗‖ ≤
𝛿

(1−2𝑏𝑇) ∑ 𝑎𝑘
𝑚
𝑘=1

=∈.

2𝑏𝑇 < 1

𝑥0

𝑥 ∈ 𝐶[0, 𝑇]

𝑎𝑘 ∀ 𝜖 > 0 ∃ 𝛿(𝜖) > 0

|𝑎𝑘 − 𝑎𝑘
∗ | ≤ 𝛿  ⟹ ‖𝑥 − 𝑥∗‖ ≤ 𝜖,

𝑥∗

𝑑𝑥∗

𝑑𝑡
= 𝑓 (𝑡, 𝑥∗(𝜑(𝑡))) ,   𝑡 ∈ (0, 𝑇]

∑ 𝑎𝑘
∗𝑚

𝑘=1 𝑥∗(𝜏𝑘) = 𝑥0 𝑎𝑘
∗ > 0, 𝜏𝑘 ∈ (0, 𝑇].

𝑎𝑘

𝑥 𝑥∗

|𝑥(𝑡) − 𝑥∗(𝑡)| = |
1

∑ 𝑎𝑘
𝑚
𝑘=1

[𝑥0 − ∑ 𝑎𝑘

𝑚

𝑘=1

∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠)]
𝜏𝑘

0

+ ∫ (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠
𝑡

0
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                                          −
1

∑ 𝑎𝑘
∗𝑚

𝑘=1

[𝑥0 − ∑ 𝑎𝑘
∗

𝑚

𝑘=1

∫ 𝑓 (𝑠, 𝑥∗(𝜑(𝑠))) 𝑑𝑠)]
𝜏𝑘

0

− ∫ 𝑓 (𝑠, 𝑥∗(𝜑(𝑠))) 𝑑𝑠
𝑡

0

| 

= |𝑥0 (
1

∑ 𝑎𝑘
𝑚
𝑘=1

−
1

∑ 𝑎𝑘
∗𝑚

𝑘=1

) − (
1

∑ 𝑎𝑘
𝑚
𝑘=1

∑ 𝑎𝑘

𝑚

𝑘=1

∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠
𝜏𝑘

0

−
1

∑ 𝑎𝑘
∗𝑚

𝑘=1

∑ 𝑎𝑘
∗

𝑚

𝑘=1

∫ 𝑓 (𝑠, 𝑥∗(𝜑(𝑠))) 𝑑𝑠)
𝜏𝑘

0

                                         + (∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠
𝑡

0

− ∫ 𝑓 (𝑠, 𝑥∗(𝜑(𝑠))) 𝑑𝑠
𝑡

0

)|

≤
|𝑥0| ∑ |𝑎𝑘 − 𝑎𝑘

∗ |𝑚
𝑘=1

∑ 𝑎𝑘
𝑚
𝑘=1 ∑ 𝑎𝑘

∗𝑚
𝑘=1

+ |
∑ 𝑎𝑘

∗𝑚
𝑘=1 ∑ 𝑎𝑘 ∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠 − ∑ 𝑎𝑘

𝑚
𝑘=1 ∑ 𝑎𝑘

∗ ∫ 𝑓 (𝑠, 𝑥∗(𝜑(𝑠))) 𝑑𝑠
𝜏𝑘

0
𝑚
𝑘=1

𝜏𝑘

0
𝑚
𝑘=1

∑ 𝑎𝑘
𝑚
𝑘=1 ∑ 𝑎𝑘

∗𝑚
𝑘=1

|

+ ∫ |𝑓 (𝑠, 𝑥(𝜑(𝑠))) − 𝑓 (𝑠, 𝑥∗(𝜑(𝑠)))| 𝑑𝑠

𝑡

0

≤
𝑚𝛿|𝑥0|

∑ 𝑎𝑘
𝑚
𝑘=1 ∑ 𝑎𝑘

∗𝑚
𝑘=1

+ |
∑ 𝑎𝑘

𝑚
𝑘=1 ∑ 𝑎𝑘

∗ ∫ (𝑓 (𝑠, 𝑥(𝜑(𝑠))) − 𝑓 (𝑠, 𝑥∗(𝜑(𝑠))))𝑑𝑠
𝜏𝑘

0
𝑚
𝑘=1

∑ 𝑎𝑘
𝑚
𝑘=1 ∑ 𝑎𝑘

∗𝑚
𝑘=1

|

+ 𝑏 ∫ |𝑥(𝜑(𝑠)) − 𝑥∗(𝜑(𝑠))|𝑑𝑠
𝑡 

0

≤
𝑚𝛿|𝑥0|

∑ 𝑎𝑘
𝑚
𝑘=1 ∑ 𝑎𝑘

∗𝑚
𝑘=1

+ ∫ |𝑓 (𝑠, 𝑥(𝜑(𝑠))) − 𝑓 (𝑠, 𝑥∗(𝜑(𝑠)))| 𝑑𝑠 + 𝑏𝑇‖𝑥 − 𝑥∗‖
𝜏𝑘

0

≤
𝑚𝛿|𝑥0|

∑ 𝑎𝑘
𝑚
𝑘=1 ∑ 𝑎𝑘

∗𝑚
𝑘=1

+ 𝑏𝑇‖𝑥 − 𝑥∗‖ + 𝑏𝑇‖𝑥 − 𝑥∗‖

≤
𝑚𝛿|𝑥0|

∑ 𝑎𝑘
𝑚
𝑘=1 ∑ 𝑎𝑘

∗𝑚
𝑘=1

+ 2𝑏𝑇‖𝑥 − 𝑥∗‖

‖𝑥 − 𝑥∗‖ ≤
𝑚𝛿|𝑥0|

(1−2𝑏𝑇) ∑ 𝑎𝑘
𝑚
𝑘=1 ∑ 𝑎𝑘

∗𝑚
𝑘=1

=∈.

2𝑏𝑇 < 1

𝑎𝑘
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𝑔: [0, 𝑇] → [0, 𝑇]

 𝑥 ∈ 𝐶[0, 𝑇]

𝑥(𝑡) =
1

𝑔(𝑇) − 𝑔(0)
[𝑥0 − ∫ ∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠𝑑𝑔(𝑡)]

𝜏𝑘

0

𝑇

0

+ ∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠.
𝑡

0

𝑎𝑘 = 𝑔(𝑡𝑘) − 𝑔(𝑡𝑘−1) 𝑔

 𝜏𝑘 ∈ (𝑡𝑘−1, 𝑡𝑘), 0 = 𝑡0 < 𝑡1 < 𝑡2 < ⋯ < 𝑡𝑘 = 𝑇

∑ 𝑎𝑘
𝑚
𝑘=1 = 𝑔(𝑇) − 𝑔(0).∑ (𝑔(𝑡𝑘) − 𝑔(𝑡𝑘−1))𝑥( 𝜏𝑘) =𝑚

𝑘=1 𝑥0

lim
𝑚→∞

∑ 𝑎𝑘
𝑚
𝑘=1 𝑥(𝜏𝑘) =  lim

𝑚→∞
∑ (𝑔(𝑡𝑘) −𝑚

𝑘=1

𝑔(𝑡𝑘−1)) 𝑥(𝜏𝑘) = ∫ 𝑥(𝑡)𝑑𝑔(𝑡).
𝑇

0

𝑚 → ∞

𝑥(𝑡) = lim
𝑚→∞

1

∑ 𝑎𝑘
𝑚
𝑘=1

[𝑥0 − ∑ 𝑎𝑘
𝑚
𝑘=1 ∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠)]

𝜏𝑘

0
+ ∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠

𝑡

0

  =
1

𝑔(𝑇) − 𝑔(0)
[𝑥0 − 𝑙𝑖𝑚

𝑚→∞
∑(𝑔(𝑇) − 𝑔(0))

𝑚

𝑘=1

∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠)]
𝜏𝑘

0

+ ∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠
𝑡

0

=
1

𝑔(𝑇)−𝑔(0)
[𝑥0 − ∫ ∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠𝑑𝑔(𝑡)]

𝜏𝑘

0

𝑇

0
+ ∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠.

𝑡

0

∑ 𝑎𝑘
∞
𝑘=1

 𝑥 ∈ 𝐶[0, 𝑇]

𝑥(𝑡) =
1

∑ 𝑎𝑘
∞
𝑘=1

[𝑥0 − ∑ 𝑎𝑘
∞
𝑘=1 ∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠)]

𝜏𝑘

0
+ ∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠

𝑡

0

𝑚



 

Volum2, Number3      

2023                 
جامعة سرت –مجلة كلية التربية  23  

 

𝑥𝑚(𝑡) =
1

∑ 𝑎𝑘
𝑚
𝑘=1

[𝑥0 − ∑ 𝑎𝑘
𝑚
𝑘=1 ∫ 𝑓 (𝑠, 𝑥𝑚(𝜑(𝑠))) 𝑑𝑠

𝜏𝑘

0
]

+ ∫ 𝑓 (𝑠, 𝑥𝑚(𝜑(𝑠))) 𝑑𝑠
𝑡

0

 𝑚 → ∞

lim
m→∞

𝑥𝑚(𝑡) = lim
m→∞

1

∑ 𝑎𝑘
𝑚
𝑘=1

[𝑥0 − ∑ 𝑎𝑘

𝑚

𝑘=1

∫ 𝑓 (𝑠, 𝑥𝑚(𝜑(𝑠))) 𝑑𝑠
𝜏𝑘

0

]

+ lim
m→∞

∫ 𝑓 (𝑠, 𝑥𝑚(𝜑(𝑠))) 𝑑𝑠
𝑡

0

|𝑎𝑘𝑥(𝜏𝑘)| ≤ 𝑎𝑘‖𝑥‖ ≤ 𝑎𝑘𝑟

|𝑎𝑘 ∫ 𝑓 (𝑠, 𝑥𝑚(𝜑(𝑠))) 𝑑𝑠
𝜏𝑘

0
| ≤ 𝑎𝑘 ∫ |𝑓 (𝑠, 𝑥𝑚(𝜑(𝑠)))| 𝑑𝑠

𝜏𝑘

0

≤ 𝑎𝑘 ∫ (𝑎(𝑠) + 𝑏‖𝑥𝑚‖)𝑑𝑠
𝜏𝑘

0

≤ 𝑎𝑘(𝑀 + 𝑏𝑟𝑇).

∑ 𝑎𝑘
𝑚
𝑘=1 𝑥(𝜏𝑘)

∑ 𝑎𝑘 ∫ 𝑓 (𝑠, 𝑥𝑚(𝜑(𝑠))) 𝑑𝑠
𝜏𝑘

0
∞
𝑘=1

𝑥(𝑡) =
1

∑ 𝑎𝑘
∞
𝑘=1

[𝑥0 − ∑ 𝑎𝑘
∞
𝑘=1 ∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠

𝜏𝑘

0
] + ∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠.

𝑡

0

∑ 𝑎𝑘

∞

𝑘=1

𝑥(𝜏𝑘) = ∑ 𝑎𝑘

∞

𝑘=1

1

∑ 𝑎𝑘
∞
𝑘=1

[𝑥0 − ∑ 𝑎𝑘

∞

𝑘=1

∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠
𝜏𝑘

0

]                                 

+ ∫ 𝑓 (𝑠, 𝑥(𝜑(𝑠))) 𝑑𝑠
𝜏𝑘

0

= 𝑥0

𝑑𝑥

𝑑𝑡
= 𝑡4𝑒−𝑡 +

1

17
[𝑒−𝑡2

𝑥(𝑡2)𝑐𝑜𝑠2(𝑥(𝑡2)) + 𝑡4𝑥(𝑡2)],     𝑡 ∈ (0, 1]
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∫ 𝑥(𝑠)𝑑𝑔(𝑠)
1

0
= 𝑥0

 𝜑(𝑡) = 𝑡2

𝑓 (𝑡, 𝑥(𝜑(𝑡))) = 𝑡4𝑒−𝑡 +
1

17
[𝑒−𝑡2

𝑥(𝑡2)𝑐𝑜𝑠2(𝑥(𝑡2)) + 𝑡4𝑥(𝑡2)].

|𝑓 (𝑡, 𝑥(𝜑(𝑡)))| ≤ 𝑡4𝑒−𝑡 +
2

17
|𝑥|.

𝑏 =
2

17

𝑎(𝑡) = 𝑡4𝑒−𝑡 ∈ 𝐿1[0,1] 2𝑏𝑇 ≃ 0.24 < 1.

𝑔: [0,1] → [0,1] 𝑔(𝑡) = 𝑡

𝑥 ∈ 𝐶[0, 1].

𝑑𝑥

𝑑𝑡
= 𝑡3 + 2𝑡 +

𝑙𝑛(1+|𝑥(𝛽𝑡)|)

15−𝑡
 𝑡 ∈ (0, 3]

∑
1

𝑘2
∞
𝑘=1 𝑥 (

3𝑘−1

𝑘2+1
) = 𝑥0,

∈ (0, 1) 𝜑(𝑡) = 𝛽𝑡 

𝑓 (𝑡, 𝑥(𝜑(𝑡))) = 𝑡3 + 2𝑡 +
𝑙𝑛(1+|𝑥(𝛽𝑡)|)

15−𝑡
.

   |𝑓 (𝑡, 𝑥(𝜑(𝑡)))| ≤ 𝑡3 + 2𝑡 +
1

12
|𝑥|.

𝑏 =
1

12

𝑎(𝑡) = 𝑡3 + 2𝑡 ∈ 𝐿1[0,1] 2𝑏𝑇 ≃ 0.5 < 1.

𝑥 ∈ 𝐶[0, 3].
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ff

ff ff

ff
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